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[:{d 55 e 0] F.Lap
1 1 SKPiR&ES 44530
2 6 EERRE 44.831
3 5 F—LDr. 45.133
4 9 DATUY 45.390
5 7 BIETEAM 45.412
6 10 G&You 45.415
7 8 THOER 46.726
8 4 La Basil 48.891
it 14
v SHE 2 Al F.Lap
1 1 SKPIREE/hbaE = 45.031
2 7 BNETEAM/ D AXE 10 19.173 46.662
3 10 G&You/Zb7= 10 20.693 46.596
4 8 THOER/LWLE 10 22.219 46.207
5 4 La Basil/XUZ% 10 38.007 47.869
6 9 DAUVY/LHLE 10 42.333 47.852
7 5 F—LDr./IEFL 7 3Laps 45975
8 6 EERRE/FvE 4 6Laps 46.109
ch B
{5z SHE 2 Al Laps = F.Lap
1 1 SKPHEL/13¥L 10 - 42.877
2 7 BENIETEAM/ LA ES 10 1.857 42.673
3 6 RERARE/2<5 10 5.488 42.900
4 5 F—LDr./Z<E 10 6.318 42749
5 8 THOER/LIFk 10 9.369 43.084
6 10 G&You/ <L E 10 11.309 42.921
7 9 DAV /33E 10 13.128 43.164
8 4 La Basil/ b=t~ 8 2Laps 46.196
AT
& {3z 2l Laps F.Lap
1 EEERE/ HDIES 39.574
2 10 G&You/IcLy\XeE 10 5. 549 40.235
3 1 SKPHES/EHD 10 6.010 40.307
4 5 F—LDr./ &S 10 15.032 39.951
5 9 DAV /EEDH 10 26.936 40.896
6 7 BIETEAM/&NED 10 27.755 41.363
7 8 THOER/ <% 10 28.332 41278
8 4 La Basil/7=H$L 10 38.436 42474
90ii#
& {3z SH 2 Al Laps = F.Lap
1 1 SKPi&ES 137 - 37.883
2 7 BIETEAM 137 14.441 37.768
3 5 F—LDr. 136 1Lap 38.333
4 10 G&You 136 1Lap 38.314
5 6 EERRE 134 3Laps 38.181
6 8 THOER 134 3Laps 38.613
7 9 DATUY 133 4Laps 37.888
8 4 La Basil 127 10Laps 39.496
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